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 . انذبٔ٘ نٓب انٕػبء ٔشكم  انغبصاد ْٙ أكضش انًٕاد اَزشبساً) أ٘ رُزشش ثغشػخ فٙ انٕٓاء( ٔرأخز دجى  -1

 ٔ كضبفزٓب أقم ثكضٛش يٍ كضبفخ انجٕايذ ٔانغٕائم .ثغجت انًغبفبد ثٍٛ جضٚئبرٓب  قبثهخ نلاَضغبط  ثغٕٓنخ  -2

 يكَٕخ يخبنٛظ( ثشكم ربو إرا جًؼذ فٙ إَبء ٔادذ ظزوف الخلظالغيز قابلت للتفاعل هع بعضها في ) رخزهظ انغبصاد -3

 ٔٚأخز كم غبص دجى انٕػبء كهّ كًب نٕ كبٌ ثًفشدِ.                       

(Ex-1)-Name five elements that exist as gases at room temperature. 

A)    O2, N2, Cl2, Br2, He 

B)    O2, N2, O3, Br2, He 

C)    O2, N2, Cl2, O3, He 

D)    O2, Cl2, S2, O3, He 

 

 

==================================================== 

 (Ex-2)-Which of the following is/are characteristic(s) of gases  ? 

A)- High compressibility 

B)-Relatively large distances between molecules 

C)-Formation of homogeneous mixtures regardless of the nature of gases 

D)-High compressibility and relatively large distances  between molecules 

 E)-High compressibility, relatively large distances between molecules  

                    And formation of homogeneous  mixtures regardless of the nature of gases 

====================================================== 

 

 

 

 

 

 

 

 

 

 الغازات في الحرارة العادية هي
  (H2  ,  O2  ,   N2    ,    O3    ,    F2    ,    Cl2  ) 

 بالاضافة لمغازات الخاممة
 

 الاتيةهذا المقرر بالفيديو اتبع الخطوات  ستماع شرح وا لمشاهدة 
 

  المادة بدقةدد حو  قم بالتسجيل في الموقع  saberzewail.comادخل عمى الرابط       -1
 تابع المراسلات من خلال بريدك الالكتروني لمعرفة كيفية المشاهدة -2

    Gases    الغاساث 
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 (Ex-3)-Which is not a physical characteristic of gases? 

A) Gases are the most compressible of the states of matter. 

B) Gases assume the volume and shape of their containers. 

C) Gases will mix evenly and completely when confined to 

            the same container. 

D) Gases have higher density than liquids and soli 

================================ 

 
 

  ُٚشأ ضغظ انغبص ثغجت رصبدو جضٚئبرّ يغ جذساٌ الاَبء انًٕجٕد ثّ انغبص

 ٔٚضداد ثشفغ دسجخ انذشاسح َٔقص دجى انٕػبء

 ٔدذح انضغظ انجٕ٘ .   atmٔنكٍ انٕدذح الأكضش شٕٛػبً ْٙ   Paٚقبط ثبنٕدذح انذٔنٛخ  

( 1atm = 1.013× 10
5
pa)      -      ( 1 atm = 76 cm Hg=760 mmHg( torr )) 

( ٔػُذ يغزٕٖ عطخ 273kػُذ دسجخ انصفش انًؤ٘ ) cm 76ٚؼبدل ٔصٌ ػًٕد يٍ انضئجق   atm 1انضغظ انجٕ٘ 

 انجذش . ٔٚغًٗ انضغظ ػُذ ْزِ انذبنخ ثبنضغظ انجٕ٘ انقٛبعٙ )أ انًؼٛبس٘ ( 

SPT      (Standard atmospheric Pressure and Temperature) 

 بلاَخفبض ػٍ يغزٕٖ عطخ انجذش ٔٚقم ثبلاسرفبع ػٍ ْزا انًغزٕٖانجٕ٘ ث ٔٚضداد انضغظ 

===============================================  

(Ex-4)- Which one of the following statements is ture concerning the atmospheric   

                         pressure   in a mine that is 500 m below sea level? 

A) - greater than 1 atm                         B) - less than 1 atm    

C) - equal to 1 atm                               D) -  approaching 0 atm 

 

 

 

أ٘ ػُذ انصفش انًؤ٘ ٔٚقم ْزا انضغظ   273kٔدسجخ دشاسح   1atmيٍ انًؼشٔف اٌ انضغظ ػُذ عطخ انجذش ٚغبٔ٘ 

و يٍ  500أ٘ اَّ ػهٗ نغى ػهٗ ػًق -يغ الاسرفبع لاػهٗ ػٍ عطخ انجذش ٔٚضداد ثبلاَذفبض ػٍ يغزٕ٘ عطخ انجذش

 عطخ انجذش ٚكٌٕ انضغظ اكجش يٍ انضغظ انجٕ٘

 

 

Solution: 

 ضغظ انغبص
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 (Ex-5)- Convert 2.0 atm to mmHg. 

A)- 115 mmHg             B)- 0.27 mmHg             C)- 150 mmHg            D)- 1520 mmHg 

 

 

 

 ٚغزخذو ْزا انًخطظ نزذٕٚم انضغظ

 

 

 

     2×760   =   1520   mmHg 

 

================================================= 

 

 (Ex-6)- Convert 562 mmHg to atm. 

A)- 0.739 atm            B ) - 4.27 × 10
5
 atm            C )-1.05atm                D)-0.562 atm 

 

 

 

 ا انًخطظ نزذٕٚم انضغظ1ٚغزخذو ِ

 

 

 

     562   ÷760   =   0.739    atm 

 

======================================================= 

 

 

 

 

Solution: 

Solution: 

atm 

×760 

÷760 

mmHg 

(torr) 

atm 

×760 

÷760 

mmHg 

(torr) 
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 قاًىى بىيل -1

 

.At constant temperature, 

 the volume of a gas is inversely proportional to the pressure 

P
V

1


            (P V = constant) 

 ػُذ صجٕد دسجخ انذشاسح ٚزُبعت دجى انغبص ػكغٛبً يغ ضغطّ. 

2V2= P1V1P 

  halfedٚقم انذجى انٙ انُصف doubled  ارا صاد انضغظ انٙ انضؼف  -يهذٕظخ:

  ٔرنك ػُذ صجٕد دسجخ انذشاسحonetherd    ٚقم انذجى انٙ انضهش  tripled ٔارا صاد انضغظ انٙ صلاس ايضبل 

=========================================================== 

 

 (Ex-7)-What is P in the table below?  

 

 

 

 

 

 

 

 

 

 

 

 

 P V 

Initial 14atm 1L 

final p 50L 

P1=14atm 

P2=?? 

V1=1L 

V2=50 L 

P1V1= P2V2 

 

atm
V

VP
P 28.0

50

1*14*

2

11
2   

Solution: 

من العوامل المؤثرة عمى سموك 
 –الغاز :

 -درجة الحرارة  -الضغط  –الحجم 
 كمية الغاز)عدد مولاته(

 قىاًيي الغاساث 

Gases Laws  
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(Ex-8)-A sample of air occupies 3.8 L when the pressure is 1.2 atm. the pressure is required 

in order to compress it to 0.075 L is  (The temperature is kept constant) 

A)  42atm               B)  0.24atm             C) 24atm               D)  61atm 

 

 

P1=1.2 atm 

P2=?? 

V1=3.8 L 

V2=0.075  L 

P1V1= P2V2 

 

atm
V

VP
P 8.60

075.0

8.3*2.1*

2

11
2   

============================================ 
(Ex-9)-Consider the following apparatus. Calculate the partial pressures of helium and neon 

after the stopcock is open. The temperature remains constant at 16°C. 

 A) Partial pressures: He = 0.24 atm; Ne = 2.3 atm 

B) Partial pressures: He = 0.18 atm; Ne = 1.4 atm 

C) Partial pressures: He = 0.22 atm; Ne = 0.61 atm 

D) Partial pressures: He = 0.16 atm; Ne = 2.1 atm 

 

 

 لادع اَّ ػُذ خهظ انغبصاد فبٌ كلا يُٓب ٚشغم كم انذجى انًزبح

)ثغجت اَزشبس انغبصاد داخم ثؼضٓب( ْٕ دجى انذٛض كهخٔٚصجخ دجى كم غبص   

========================================= 

Ne 

 

P1V1= P2V2 
------------------------ 

atm

V

VP
P

1.2

6.4

4.3*8.2

*

2

11
2







 

He 

 

P1V1= P2V2 
------------------------ 

atm

V

VP
P

16.0

6.4

2.1*63.0

*

2

11
2







 

 

 

 

P1=2.8 atm 

P2=?? 

V1=3.4 L 

V2=4.6  L 

 

 

 

P1=0.63 atm 

P2=?? 

V1=1.2 L 

V2=4.6  L 

 

Solution: 

Solution: 
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  (Charles and Gay-Lussac s law) 

At constant pressure, volume is directly proportional to temperature. 

 ( TV) ٚزُبعت دجى انغبص طشدٚب يغ دسجخ دشاسرّ ػُذ صجٕد انضغظ

 ( K = C  +  273ثبنكهفٍ.  )   Tدٛش ركٌٕ دسجخ انذشاسح 

2

2

1

1

T

V

T

V


 

================================================== 

(Ex-10)-A sample of nitrogen gas has a volume of 32.4 L at 20°C. The gas is heated to 220ºC 

at constant pressure. the final volume of nitrogen  is  . 

       A. 2.94 L                    B.  19.3L                     C.  31.4L                  D.  54.5L          

 

 

 (Kرذٕٚم انذشاسح يٍ انٕدذح انًؤٚخ انٗ انٕدذح انذٔنٛخ)لادع اَّ لاثذ يٍ 

T1=20 C = 293K 

T2=220 C = 493K 

V1=32.4 L         V2=?? 

 
2

2

1

1

T

V

T

V
    

L
T

TV
V 5.54

293

493*4.32*

1

21
2   

================================= 

 (Ex-11)-What is T in the table below? 

 

 

 

 

 

 

 V T 

Initial 91.8mL 365k 

final 45.8mL T 

T1=365K 

T2=?? 

V1=91.8 Ml      V2=45.8 mL 

 
2

2

1

1

T

V

T

V
    

CK
V

VT
T 91182

8.91

8.45*365*

1

21
2   

Solution: 

Solution: 

 جاي لىساك و-قاًىى شارل 
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 . هع عذد هىلاته عٌذ ثبىث الضغظ ودرجت الحزارة directly proportional يتٌاسب حجن الغاس طزدياً 

2

2

1

1

n

V

n

V


 
 (Ex-12)- 0.820 mole of hydrogen gas has a volume of 2.00 L at a certain temperature and 

pressure. What is the volume of 0.125 mol of this gas at the same temperature and pressure ? 

A.  0.0512 L                   B.  0.250 L              C.  0.305 L              D. 4.01 L                  E. 19.5 L 

 

 
n1=0.82 mole 

n2=0.125 mol 

V1=2 L 

V2=?? 

 
2

2

1

1

n

V

n

V
    

 

L
n

nV
V 305.0

82.0

125.0*2*

1

21
2   

========================== 

 

 

 

 

 

 

 

 

 

 

Solution: 

قاًىى أفىجادرو 

Avogadro s law 
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 يغ دسجخ دشاسرّ    directly proportionalػُذ صجٕد انذجى ٚزُبعت ضغظ كًٛخ يؼُٛخ يٍ غبص طشدٚب 

2

2

1

1

T

P

T

P
  

(Ex-13)-The gas pressure in an aerosol can is 1.8 atm at 25°C. If the gas is an ideal gas, what 

pressure would develop in the can if it were heated to 475°C?   

A. 0.095 atm                  B. 0.717 atm                        C. 3.26 atm                        D. 4.52 atm 

 

 

P1=1.8 atm 

P2=?? 

T1=25 C=298 K 

T2=475 C=748 K 

 
2

2

1

1

T

P

T

P
    

 

atm
T

TP
P 52.4

298

748*8.1*

1

21
2   

 

 

 

 

 

 

 

 

 

 

 

Solution: 

 قاًىى الضغىط
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2

22

1

11

T

PV

T

PV


 

(Ex-14)-What is V in the table below? 

 

 

P1=1420 torr 

P2=760 torr 

T1=200 K        T2=360 K 

V1=75 mL        V2=?? 

 
2

22

1

11

T

vP

T

vP
    

LmL

PT

TVP
V

25.024.252

200*760

360*75*1420

*

**

21

211
2




 

============================================== 

(Ex-15)-A small bubble rises from the bottom of a lake, where the temperature and pressure 

are 4°C and 3.0 atm, to the water's surface, where the temperature is 25°C and the pressure is 

0.95 atm. Calculate the final volume of the bubble if its initial volume was 2.1 mL . 

A.  0.72 mL           B.  6.2 mL                 C.  41.4 mL         D.  22.4 mL             E. 7.1 mL 

 
 

P1=3 atm 

P2=0.75 atm 

T1=277 K          T2=298 K 

V1=2.1 mL           V2=?? 

 
2

22

1

11

T

vP

T

vP
    

mL
PT

TVP
V 1.7

75.0*277

298*1.2*3

*

**

21

211
2   

 

 P V T 

Initial 1,420 torr 75mL 200k 

final 760 torr V 360K 

Solution: 

Solution: 

القاًىى العام 

 للغاساث
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(Ex-16)-If the pressure of a gas sample is quadrupled and the absolute temperature is 

doubled, by what factor does the volume of the sample change ? 

A.  8                   B.  2                    C. 1 /2            D     1 /4                    E.    1 /8 

 

 

 

 

P1=1 atm 

P2=4 atm 

T1=1 K 

T2=2 K 

V1=1 

V2=?? 

 
2

22

1

11

T

vP

T

vP
    

5.0
4*1

2*1*1

*

**

21

211
2 

PT

TVP
V  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Solution: 
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 قاًىى الغاس الوثالي

 

 
 

 

 

 

 

R
nT

PV
 

================================================= 

 بد( ػُذ َفظ انظشٔف يٍ انضغظ ٔدسجخ انذشاسح . ٚئانذجٕو انًزغبٔٚخ يٍ انغبصاد انًخزهفخ نٓب َفغٙ ػذد انًٕلاد ) انجض -1

 22.4L    دجًبً  قذسِ        1atm   ٔ273Kْٔٙ ضغظ   SPTٚشغم انًٕل انٕادذ يٍ أ٘ غبص فٙ انظشٔف  -2

 

 

================================================================= 

(Ex-17) - 0.500 mole of ammonia (NH3) occupies a 1.2 L flask at 150°C. Calculate the 

pressure of the ammonia inside the flask . 

A.  6.91* 10
-2

 atm          B.  5.13atm            C.  12.2 atm             D.     14.5 atm 

 

 

 

n = 0.5 mol 

V=1.2 L 

T=423 k 

R=0.082 

P=?? 

P V= n R T 

atm
V

TRn
P 5.14

2.1

423*082.0*5.0**
  

 

 

 

P V = n RT   درجة الحرارةk 
بالكمفن

=  ثابت الغاز    0.082 atm.L/ mole.K عدد المولات 
 بالمترحجم الغاز 

     atmضغط الغاز 

atm 

Solution: 
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(Ex-18)-A gas evolved during the fermentation of sugar was collected at 22.5°C and 702 mmHg. 

After purification its volume was found to be 25.0 L. How many moles of gas were collected ? 

A-0.95mol               B- 1.05mol                C -12.5mol        D- 22.4mol         E- 724mol 

 

 

 

n = ?? 

V=25 L 

T=295.5 k 

R=0.082 

P=(702÷760) 

   =0.924 atm 

P V= n R T 

mole
TR

VP
n 95.0

5.295*082.0

25*924.0

*

*
  

 

==================================================== 

 (Ex-19)- How many molecules of N2 gas can be present in a 2.5 L    

                               flask at 50°C and 650 mmHg ? 

A.  2.1* 10
-23

  molecules                      B. 4.9*10
22

  molecules 

C. 3.1 * 10
23

  molecules                       D. 3.6 * 10
25

  molecules 

 

 

N=??(ػذد انجضٚئبد ) 

n = ?? 

V=2.5 L 

T=323 k 

R=0.082 

P=(650÷760) 

   =0.855 atm 

P V= n R T 

mole
TR

VP
n 081.0

323*082.0

5.2*855.0

*

*
  

 

N=  n * NA=0.081*6.022*10
23

 =4.9*10
22  

molecules 

 

 

 

Solution: 

Solution: 

 عدد المولات
 المادة

 عدد الذرات أو الجزيئات
 الأيونات )الوحدات(

 عدد أفوجادرو 
N 

of 

NA n 
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(Ex-20)-Calculate the mass, in grams, of 2.74 L of CO gas measured at 30°C and 0.5 atm . 

A. 0.263 g                 B. 2.46 g                  C. 3.80 g                D.  15.4g                  E. 206 g 

 

 

 

m= ??(ػذد انجضٚئبد ) 

n =  ?? 

Mm (CO) = 28g /mole 

V= 2.74 L 

T= 303 k 

R= 0.082 

P =5 atm 

P V= n R T 

mole
RT

VP
n 55.0

303*082.0

74.2*5*
  

 

m=  n * Mm= 0.55*28 =15.4 g 

================================================= 

 الغاساث عي السلىك الوثالي    Deviation هلحىظت تبتعذ)تشذ(

 هٌخفضت .عٌذ  ضغىط عاليت ودرجت حزارة 

 

(Ex-21)-Deviations from the ideal gas law are greater at  

A. low temperatures and low pressures. 

B. low temperatures and high pressures. 

C. high temperatures and high pressures. 

D. high temperatures and low pressures. 

========================================================= 

 (Ex-22)-For a substance that remains a gas under the conditions listed, deviation from the 

ideal  gas law would be most pronounced at  

A. 100 °C and 2.0 atm                 . B. 0 °C and 2.0 atm. 

C. -100°C and 4.0 atm.                D. 100°C and 4.0 atm. 

 

 

 

 كًب فٙ انغؤال انغبثق

 

Solution: 

Solution: 

mass 

n Mwt 
عدد 
 المولات

 الكتمة بالجرام لممذاب

 الوزن الجزيئي
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 ---------+Pt =P1+P2+P3                                 ٔػبء ٔادذ ٚكٌٕ فٙػُذ خهظ ػذح غبصاد 

 

x
n

n

P

P

tt

 11
   -    mole fraction 

 

 انكغش انًٕنٙ ) نٛظ نّ ٔدذح قٛبط (

أ ضغظ غبص انٗ انضغظ انكهٙ نهخهٛظ ( -نهخهٛظ  انٗ انًٕلاد انكهٛخ فٙ خهٛظ)انُغجخ ثٍٛ يٕلاد غبص  

========================================= 

 

(Ex-23)-A mixture of three gases has a total pressure of 1,380 mmHg at 298 K. The mixture 

is analyzed and is found to contain 1.27 mol CO2  , 3.04 mol CO, and 1.50 mol Ar. What is 

the partial pressure of Ar ?  

A. 0.258atm      B. 301mmHg      C. 356mmHg      D. 54345 mmHg      E. 84020mmHg 

 

 

 

Pt=1,380 mmHg 

nCO2 =  1.27 mole 

nCO =  3.04 mole  

nAr =  1.5 mole 

nt =  5.81 mole 

mmHg

n

np
P

n

n

P

P

t

Art
Ar

t

Ar

t

Ar

356

81.5

5.1*1380*







 

 

 

Solution: 

Dalton's law of  partial pressures  

 التىى للضغىط الجشئيت: دقاًىى 
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(Ex-24)-Refer to Dalton's law of partial pressures and explain what mole fraction is. 

A-      The number of moles of one component. 

B-     The ratio of the number of moles of one component to the number of moles of 

                          all   components present. 

C     - The number of moles of one component divided by 100. 

D -    The ratio of the number of moles of all components present to the number of moles 

                               of one component. 

========================================================= 

 

(Ex-25)-Does mole fraction have units? 

A-yes, mol                                 B-yes, mol-1                                     C-no 

===================================== 

(Ex-26)-What volume of oxygen gas at 320 K and 680 torr will react completely with 2.50 L 

of NO gas at the same temperature and pressure? 

2NO(g) + O2(g)                         2NO2(g)  

A. 1.25 L             B. 2.50 L             C. 3.00 L                D. 1.00 L               E. 5.00 L 

 

 

 ػُذ َفظ انظشٔف يٍ انضغظ ٔدسجخ انذشاسح فئٌ انًٕلاد انًزغبٔٚخ يٍ انغبصاد انًخزهفخ راد دجٕو يزغبٔٚخ

 ٔاٚضب انُغت ثٍٛ انًٕلاد كبنُغت ثٍٛ انذجٕو

 

2NO(g)   +      O2(g)                     2NO2(g)  

2.5 L             x L 

    2                 1L 

    

x=1.25 L 

 

 

 

 

Solution: 

 ch-3نفس طريقة المعادلات في   



 

A+4Us - 4 all students - aplus44us@gmail.com – chemistry - ch-5 16 

 

(Ex-27)-What volume of CO2 gas at 645 torr and 800 K could be produced by the reaction of 

45 g of CaCO3 according to the equation? 

CaCO3(s)                     CaO(s) + CO2(g)  

A. 0.449 L             B. 22.4 L                   C. 25.0 L                 D. 34.8 L                  E. 45.7 Ml 

 

 

 

CaCO3(s)                        CaO(s)  +  CO2(g)  

45 g                                                x     mole 

100 g                                               1    mole 

 

x=0.45 mole 

 

 

 

n = x = 0.45 mole 

V=?? 

T=800 k 

R=0.082 

P=(645÷760) 

   =0.85 atm 

P V= n R T 

L

P

TRn
V

8.34
85.0

800*082.0*45.0

**





 

 

 

 

 

 

 

Solution: 

 ثم نستخدم معادلة الغاز المثالي كما يمي   ch-3نفس طريقة المعادلات في   
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 كثافت الغاساث
 

ٔرذغت يٍ انؼلاقخ     كضبفخ أ٘ يبدح ْٙ كزهخ ٔدذح انذجٕو 









V

m
d  

 خ          يٍ يؼبدنخ انغبص انًضبنٙ دغت انؼلاق فقظ(    g/L)ػبدح ركٌٕ ثٕدذح    غبصانًٚكٍ دغبة كضبفخ  ٔ

                         Lg
RT

PM
d m / 

 

 لادع اٌ كضبفخ انغبص رزُبعت طشدٚب يغ كزهزّ انجضٚئٛخ ػُذ صجٕد دسجخ انذشاسح ٔانضغظ

================================================== 

 

(Ex-28) - Calculate the density, in g/L , of CO2 gas at 27°C and 0.50 atm pressure . 

A. 0.89 g/L            B. 1.12 g/L             C. 9.93 g/L                D. 46.0 g/L             E. 2.17 kg/L 

 

 

========================================================== 

  

 

 

 

Mm (CO2) = 44 g /mole 

T= 300 k 

R= 0.082 

P =0.5 atm Lg

RT

PM
d m

/89.0

300*082.0

44*5.0







 

 

 

Solution: 

Density of gases 
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(Ex-29)- the molar mass of (Freon-11) gas if its density is 6.13 g/L at  STP is.  

A. 0.274 g/mol        B. 3.64 g/mol           C. 78.2 g/mol        D. 137 g/mol          E. 365 g/mol 

 

 

 

======================================= 

(Ex-30)-Which of the following gases will have the greatest density at the same specified 

temperature and pressure ? 

A-   H2                       B- CClF3                    C- CO2                    D- C2H6               E-   CF4 

 

 

كجش ٚكٌٕ ْٕ الاػهٗ كضبفخ ثٍٛ انغبصادانجضٚئٛخ ا  ّزكزهركٌٕ نز٘ اانغبص  

 ػُذ َفظ انظشٔف يٍ انضغظ ٔدسجخ انذشاسح

 

==================================================== 

 

(Ex-31)-What units are normally used to express the density of gases?                                        

A)     kg/L                           B)   mg/L                              C)  g/L 

 

================================================= 

 

 

 

Mm =?? 

T= 273 k 

R= 0.082 

P =1 atm 

d =6.13 g/L 

moleg

P

TRd
M

RT

PM
d

m

m

/137
1

273*082.0*13.6

**







 

Solution: 

Solution: 
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(Ex-32)-The empirical formula of a compound is CH.   At 200 °C, 0.145 g of this compound 

occupies 97.2 mL at a pressure of 0.74 atm. the molecular formula of the compound is   

          A) C6H6                    B)C4H4                        C) C8H8               D)C10H10 

  

 

 1- َذغت ألا ػذد انًٕلاد 

m= 0.145 g 

n =  ?? 

Mm   = ?? 

Em  = 13 g 

V= 97.2m L    =   0.0972 L 

 T= 473 k 

R= 0.082 

P =0.74 atm 

P V= n R T 

mole

RT

VP
n

00185.0

473*082.0

0972.0*74.0

*







 

 

 

 ch)-3نحسب الكتمة الجزيئية ) -2
 

 
 

 
 
 
 نحسب التكرار ومن ثم نعرف الصيغة الجزيئية-3
 
 
 
 

  وبالتالي تكون الصيغة الجزيئية هي
 

C6H6 

  

Solution: 

moleg

n

m
M m

/78

00185.0

145.0





6
13

78


m

m

E

M
f

mass 

n Mm 
عدد 
 المولات

 الكتمة بالجرام لممذاب

 الوزن الجزيئ
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 الموجات الكهرومغناطيسية

Electromagnetic waves 

 

 

 

 

 

--------------------------------------------------------------------------------------------------------------- 

نكٍ -انطاقت انخٙ ًٚخهكٓا كم فٕحٌٕ   ٔحخخهف انًٕجاث انكٓشٔيغُاطٛغٛت عٍ بعضٓا فٙ انخشدد ٔانطٕل انًٕجٙ ٔبانخانٙ

 نٓا جًٛعا َفظ انغشعت 

 انعلاقت بٍٛ انخشدد ٔانطٕل انًٕجٙ

 

 طاقت انفٕحٌٕ انٕاحذ فٙ انشعاع انضٕئٙ

 

 

----------------------------------------- 

)Ex-1)-What is the wavelength (in nanometers) of light having a frequency of 8.6 × 10
13

 Hz? 

A)  3.5 nm                        B) 3.5 × 10
3
 nm                  C) 3.5 × 10

6
 nm                        D) 2.9 × 10

5
 nm 

 

 

 

  = 8.6 × 1013 Hz 

C = 3 × 108 m/s 

 = ?? 

 =  
C


 = 
.





8

13

3 10

8 6 10
 = 3.5 × 10-6 m 

        = 3.5 × 103
  nm 

 الموجات الكيرومغناطيسية
 الأشعة السينية  -التميفزيون -الموبايل -) الراديو

 الضوء بألوانو السبعة (
تسيييييييير ايييييييح المجيييييييال المتيييييييا  لييييييييا بييييييينفس السييييييير ة             

10×3) وىح سر ة ءالضو 
8
m/s)  

Electromagnetic waves (radio-

television-mobile- x-ray-light with 

seven colors) go in the area available 

at the same speed  

 

 

 10×3سرعة الضوء )

 م/ث( 8

sالتردد )
-1 )

(Hz) 
طاقة الفوتون الواحد 

(J) ثابت بلانك 
10

-34
 J.s  ×6.626 

 الطول الموجي
(m) 

Solution

: 

 لاحظ أن الوحدة المطموبة هي نانومتر  حيث
× 10

9
 

÷ 10
9
 

nm m 

 تردد الضوء الطول الموجح
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)Ex-2)- the frequency of light having a wavelength of 456 nm is. 

A) 1.37 × 10
2
 Hz             B) 6.58 × 10

5
    Hz             C) 6.58 × 10

14
 Hz              D) 1.37 × 10

14
 Hz 

 

 

 

  = ?? 

 = 456 nm 

 = 456 × 10-9 m 

C = 3 × 108 m/s 

 =  
C


 = 






8

9

3 10

456 10
  

          = 6.58 × 1014
  Hz 

لاحظظظظ  رٌ طظظظظزػت تندظظظظٕج حظظظظظخجاو يظظظظغ  ًٛظظظظغ تنًٕ ظظظظ ث 

 تنكٓزٔيغُ طٛظٛت

-------------------------------- 

)Ex-3)-A photon has a wavelength of 624 nm. Calculate the energy of the photon in joules. 

A) 3.19 × 10
–16

 J          B) 3.19 × 10
–19

 J               C) 1.24 × 10
–22

 J                D) 3.19 × 10
–28

 J 

 

 

 

  = 624 nm 

   = 624 × 10-9 m 

E = ?? 

E =  
hC


 = 
. 



  



34 8

9

6 626 10 3 10

624 10
  

      = 3.19 × 10-19
  J 

 

 تردد الطول الموجح

Solution

: 

 الطاقة اوتون

Solution

: 
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(Ex-4)-The blue color of the sky results from the scattering of sunlight by air molecules. The 

blue light has a frequency of about 7.5 ×10
14

 Hz. Calculate the energy, in joules, of a single 

photon  associated with this frequency 

A) 2.6 × 10
–31 

J                    B) 2.6 × 10
–22 

J             C) 5.0 × 10
–19 

J                  D) 5.0 × 10
–16 

J 

 

 

 

---------------------------------- 

(Ex-5)- the energy in kilojoules of a mole of photons associated with visible light of 

wavelength 486 nm is  

A) 6.46  10
-16

 J  B) 6.46  10
-25

 J            C) 246 kJ       D) 12.4 KJ                

 

  

  = 7.5 × 1014 Hz 

E = ?? 

E =  h  

 = 6.626 × 10-34 × 7.5 × 1014 

 = 5.0 × 10-19
  J 

  = 486 nm 

 = 486 × 10-9 m 

E = ?? 

E =  
hC


 = 
.  



  



34 8

9

6 626 10 3 10

486 10
 

                  = 4.09 × 10-19 J 

 رفٕ  درٔ NAْذِ نهفٕحٌٕ تنٕتحا. نكٍ تنًطهٕب ْٕ ط قت يٕل يٍ تنفٕحَٕ ث نذت َدزب فٙ  

Emol = E . NA  

       = 4.09 × 10-19 × 6.022 × 1023 

       =                   
 KJلاح  تنٕحاة ْٙ  

 

 جزيئات اليواء ضوء الشمس تشتت لمسماء المون الأزرق

 المرتبط

Solution

: 

 المرتبط طول الموجة الضوء المرئح مول

Solution

: 

÷ 1000 

× 1000 

KJ J 
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)Ex-6)-What is the binding energy kJ/mole of an electron in a metal whose threshold 

frequency for photoelectrons is 2.50  10
14

 /s?  

A) 99.7 kJ/mol      B) 1.66  10
-19

 J/mol     C) 2.75  10
-43

 J/mol     

D) 7.22  10
17

 kJ/mol       E) 1.20  10
-6

 J/mol 

 

 

 

 

  = 2.5 × 1014 Hz (Hz = S-1 = /S)    ٌلاح  ر 

 E = ?? 

~~~~~~~~~~~~~~~~~~ 

 ط قت تنزبط نلإنكخزٌٔ تنٕتحا )تنذرة تنٕتحاة(  

 E = h  = 6.626 × 10-34 × 2.5 × 1014 

   = 1.7 × 10-19   J/atom 

~~~~~~~~~~~~~~~~~~~~~~~~~~ 

 )ػاد رفٕ  درٔ(  NA×  ط قت تنًٕل ٚخى تندزب    

 Eيٕل = E  NA .  تنكخزٌٔ ذرة

  = 99754.4  J/mole 

  = 99.7  kJ/mole 

  

 

 

 

 

 

 

 

 

 

 طاقة الربط

  التردد العتبة

Solution

: 
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ؼ دنت د٘ بزٔنٙي  

    Du Broglie Equation 

حٛث أٌ عشعخّ ٚصاحبٓا حكٌٕ يٕجاث حعشف بانًٕجاث  –ٔضعج ْزِ انًعادنت عهٗ أعاط انطبٛعت انًضدٔجت نلإنكخشٌٔ 

 انًادٚت أٔ يٕجاث د٘ بشٔنٙ 

                                                  

)ْٕٔ أٚضا طٕل يٕجت د٘ بشٔنٙ لأ٘ جغى صغٛش يخحشك بغشعت(                                                                              

------------------------------ 

 

)Ex-7)-What is the de Broglie wavelength (in nm) associated with a 2.5-g Ping-Pong ball 

traveling  35mph? 

A) 1.7 × 10
–23

 nm            B) 2.73 × 10
–20

 nm           C) 1.7 × 10
–26

 nm         D) 2.8 × 10
–28

 nm 

 

 

 

 

m  = 2.5 g 

 = 2.5 × 10-3 kg 

V  = 35 m/h 

 = 
35

3600
 m/s 

 = 
.

.







 

34

3

6 626 10

35
2 5 10

3600

 = 2.73 × 10-29 m 

 = 2.7 × 10-20
  nm 

 
 (mالطول الموجي )

 (m/sالسرعة kgالكتمة
 ثابت بلانك

 المرتبط

Solution

: 
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Ex-8)-Calculate the wavelength associated with a 
20

Ne
+
 ion moving at a velocity of 2.0  10

5
 

m/s. The atomic mass of         is 19.992 amu.  

A. 1.0  10
-13

 m           B. 1.0  10
-16

 m         C. 1.0  10
-18

 m             

D. 9.7  10
12

 m            E. 2.0  10
-13

 cm 

 

 

 

 

V  = 2 × 105 m/s   = 
h

mv
  

m = 19.992× 1.661×10-27 k    = 
.

( . . )







   

34

27 5

6 626 10

19 992 1 661 10 2 10
 

               = 1 × 10-13 m 

----------------------------------- 

)Ex-9)-Calculate the wavelength of a neutron that has a velocity of  200.  m /s. 

(The mass of a neutron = 1.675  10
-27

 kg )  

A- 1.98  10
-9

 m          B- 216 nm             C- 1.8  10
50

 m        D- 198 nm              E- 5.05 mm 

 

 

 

 mn = 1.661×10-27 kg   & V = 200 m/s 

 

 

  = 
h

mv
 = 

.

.







 

34

27

6 626 10

1 661 10 200
 = 1.98 × 10-9 m 

 

Solution

: 

kg 

× 1.661×10-27 

amu 

÷ 1.661×10-27 

Solution

: 

كتمة النيترون 
 ثابتة
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 طٛف ذرة تنٓٛارٔ ٍٛ

Spectra of Hydrogen atom 
 

عُذيا قاو بْٕش بانخفشٚغ انكٓشبٙ نزسة انٓٛذسٔجٍٛ ٔدساعت انطٛف انُاحج عُٓا َخج نذّٚ خًظ يجًٕعاث طٛفٛت نكم يُٓا 

 يذٖ حشدداث ٔطاقت يخخهف عٍ اٜخش

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

-------------------------------- 

)Ex-10)-The transition (n=4  to   n=2) in the hydrogen atom belongs to the series of 

A) Lyman                    B) Ballmer                  C) Panchen                          D) Bracket 

 

 

 (.1حظٓز ػُاي  ُٚخقم تلإنكخزٌٔ يٍ ر٘ يظخٕٖ ػهٕ٘ إنٗ تنًظخٕٖ )  نًٛ ٌ   

 (.2ز ػُاي  ُٚخقم تلإنكخزٌٔ يٍ ر٘ يظخٕٖ ػهٕ٘ إنٗ تنًظخٕٖ )حظٓ    ب نًز 

 (.3حظٓز ػُاي  ُٚخقم تلإنكخزٌٔ يٍ ر٘ يظخٕٖ ػهٕ٘ إنٗ تنًظخٕٖ )    ب شٍ 

 (.4حظٓز ػُاي  ُٚخقم تلإنكخزٌٔ يٍ ر٘ يظخٕٖ ػهٕ٘ إنٗ تنًظخٕٖ )  بزتكج  

 

n=1 

Ballmer 

series 

 

Panchen 

Series 

Bracket 

Series 

Found 

series 

Lyman 

series 

n=3 

n=2 

n=4 
n=5 

 

رقم 
-المستوى

 طاقة المستوى
E 

   

 المجموعات الطيفية لذرة الهيدروجين

Solution

: 
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)Ex-11)-The second line of the Ballmer series occurs at a wavelength of 486.1 nm. What is 

the energy difference between the initial and final levels of the hydrogen atom in this 

emission process?  

A. 2.44  10
18

 J           B. 4.09  10
-19

 J            C. 4.09  10
-22

 J             

D. 4.09  10
-28

 J          E. 1.07  10
-48

 J 

 

 

 طٕل يٕ ت تنشؼ ع تنًُبؼث يٍ

 تنكخزٌٔ تَخقم بٍٛ يظخٍٕٚٛ فٙ ب نًز ْٕ 

 
 

 --------------------------------------------لاحع جٛذا أٌ------------------------------------

( الإنكخشٌٔ طاقت يعُٛت فإَّ ُٚخقم يٍ يغخٕٖ إنٗ يغخٕٖ أعهٗ يُّ بحٛث ٚكٌٕ فشق انطاقت  absorbعُذيا ًٚخص)  -1

 بٍٛ ْزٍٚ انًغخٍٕٚٛ ٚغأ٘ حًايا يقذاس انطاقت انخٙ ايخصٓا الإنكخشٌٔ ٔححغب يٍ انعلاقت

 

 

 

---------------------------------------------------------------------------------------------- 

( طاقت حغأ٘ انفشق بٍٛ طاقخٙ انًغخٍٕٚٛ emit)عُذ اَخقال الإنكخشٌٔ يٍ يغخٕٖ أعهٗ إنٗ يغخٕٖ أدَٗ فاَّ ٚشع -2

 انز٘ اَخقم بًُٛٓا حغب انعلاقت 

 
 

 

 

 

 

 

 = 486.1  nm 

  = 486.1 × 10-9 m 

 

E =  
hC


= 
.

.





  



34 8

9

6 626 10 3 10

486 1 10
  

  = 4.09 × 10-19
  J 

 الطول الموجح

  ممية الإشعاع

Solution

: 

 

 

   n2المستوى النيائح    
   n1بتدائح  المستوى الا
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)Ex-12)-Calculate the energy, in joules, required to excite a hydrogen atom by causing an 

electronic transition from the n = 1 to the n = 4 principal energy level.( En = -2.18  10
-18

 J(1/n
2
) ) 

A. 2.07  10
-29

 J          B. 2.19  10
5
 J         C. 2.04  10

-18
 J           

D. 3.27  10
-17

 J             E. 2.25  10
-18

 J 

 

 

 

n1 = 1 

n2 = 4 

E =  B [
n2

2

1
 - 

n2

1

1
] 

     = )
1

1

16

1
(10*18.2 18  

=2.04*10-18J 

------------------------------------------------------------------------ 

 

)Ex-13)-Calculate the wavelength of the light emitted by a hydrogen atom during a transition 

of its electron from the n = 4 to the n = 1 principal energy level. Recall that for hydrogen 

En = -2.18  10
-18

 J(1/n
2
)  

A. 97.2 nm            B. 82.6 nm            C. 365 nm               D. 0.612 nm           E. 6.8  10
-18

 nm 

 

 

 

 = ?? 

n1 = 4 

n2 = 1 

 =  
hC
E

 = 
.

. [ ]





  

 

34 8

18

6 626 10 3 10

1 1
2 18 10

1 16

  

 = 97.2 × 10-9 m = 97.2  nm 

Solution

: 

 ثابت الطاقة
 لذرة الهيدروجين

 انتقال للإشعاع الضوئح الطول الموجح احسب

Solution

: 
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 ػاد كًٛت تنحزكت تنشتٔٚت

Angular momentum 
quantum number-- l 

يصف المستويات الفر ية    
Subshells 

f d p s subshell 

3 2 1 0 l 

وأقصى الالكترونات يتسع ليا المستوى 
 الفر ح حسب القا دة

2(2 l +1) 
 ىحار ح والكترونات كل مستوى 

 
f d p s subshell 

 الالكترونات 2 6 10 14

 

 

رػاتد تنكى  

Quantum 
numbers 

 

 
 

 ػاد تنكى تنًغُ طٛظٙ

Magnetic quantum 
number 

-ml 

ويصف اتجاىات و دد الاوربيتالات 
(orbitals  اح المستوى الفر ح )

 ويأخذ الأ داد الصحيحة من 
l          to        l  -  

2 l 
-2,-1,0,1,2 ml 

ويكون عدد الاوربيتالات في 
 (  l +1 2المستويات الفرعية هو)

f d p s subshell 

 الاوربيتالات 1 3 5 7

 

 ػاد تنكى تنزئٛظٙ )تلأط طٙ(
Principal    Quantum number---n 

 ( الموجود بو الإلكترون  Shellويساوى رقم المستوى الأساسح)  
Q P O N M L k Shell 

7 6 5 4 3 2 1 n 

 (   2n2ويحدد أقصى سعة الكترونية لممستوى   حسب القا دة   )  

 ىوالكترونات لكل مستوى أساسح  دد ويكون أقصى 
Q P O N M L k Shell 

2n)   الالكترونات 2 8 18 32 ولايصمح ىذا القانون لما بعد المستوى الأساسح الرابع
2   ) 

 

 يوسف زويل
055799930

1 

وقل رب 
زدنح 

 عذد انكى انًغضنٙ نلإنكخشٌٔ

Electron spin quantum number---ms 

 )حول محوره(نويصف اتجاه الحركة المغزلية للإلكترو 
 ولو قيمتين اقط لأي إلكترون اح أي مستوى 

1−مع  قارب السا ة 

2
1 قارب السا ة    أو  كس       

2
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)Ex-15)-How many orbitals are allowed in a subshell if the angular momentum quantum 

number for electrons in that subshell is 3.  

A. 1                            B. 3                               C5                           D. 7                            E. 9 

 

 

 

  = 3 

 Orbitals = 2   + 1      (f)  المستوى الفشعٌ هو 

 وعذد الأوسبَتالاث به هو  7           7 = 1 + 6 =    

------------------------------- 

)Ex-16)-The number of orbitals in a d subshell is  

 

A- 1                            B- 2                           C- 3                  D- 5                     E- 7 

 

 

 

 خمس أوسبَتالبه   dمه المعلوم أن المستوى الفشعٌ   

 

 

 

 

 

 

 

 

Solution

: 

 المسمو  بو أوربيتال كم  دد

Solution

: 



 

 

A+4Us - 4 all students – aplus44us@gmail.com – Chemistry - ch-7 
 

12 

ZEWAIL    -    0557999301 

)Ex-17)-Determine the maximum number of electrons that can be found in each of the 

following subshells: 3s, 3d, 4p, 4f, 5f. 

 

A) 3s(2); 3d(8); 4p(6); 4f(14); 5f(14)                              B) 3s(2); 3d(10); 4p(6); 4f(14); 5f(16) 

C) 3s(2); 3d(8); 4p(6); 4f(14); 5f(14                              (D) 3s(2); 3d(10); 4p(6); 4f(14); 5f(14) 

 

 

 

 (2) ٚخشبغ بّ ( s) ر٘ يظخٕٖ

 (6) ٚخشبغ بّ () 

 (d) ّ(10) ٚخشبغ ب 

 (f) ّ(14) ٚخشبغ ب 

 

 or  3s  or  4s  (s)2      ري يّبظزف تنُظز ػٍ تنؼاد تنًكخٕب 

----------------------------- 

)Ex-18)-The maximum number of electrons that can occupy an energy level described by the 

principal quantum number, n, is 

  

A.  n                 B n + 1                  C. 2n                               D. 2n
2
                            E. n

2 

 

 

 

 
2n   ق ػاة تيخلاج تنًظخٕٖ تلأط طٙ ب لإنكخزَٔ ث ْٙ

2
 

  

 ٔلا حظهح ْذِ تنؼلاقت نً  بؼا تنًظخٕٖ تلأط ص تنزتبغ لأٌ تنذرة طخكٌٕ غٛز يظخقزة.

 

 

 

 

 

Solution

: 

 الموصوف مستوى الطاقة يشغل  دد أقصى

  دد الكم الأساسح

Solution

: 
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)Ex-19)-Give the values of the quantum numbers associated with the 3s subshell 

.A)  n = 3   ,   l = 0, ml = 0                                        B) n = 3, l = 1, ml = –1, 0, 1 

C)  n = 3, l = 2, ml = –2, –1, 0, 1, 2                           D) n = 3, l = 3, ml = –3, –2, –1, 0, 1, 2, 3 

 

 

 

 n  m  

3 0 0 

         n   

   الي        -تتشاوح مه      mلاحظ أن    

--------------------------------------- 

)Ex-20)-Which one of the following sets of quantum numbers is not possible? 

 

   

 

 
 

     A. Row 1                     B. Row 2                    C. Row 3                     D. Row 4                      E. Row 5 

  

 

  ٌٕنكٙ حكٌٕ رػاتد تنكى تلأربؼت يًكُت لابا يٍ رٌ ٚك 

 (1) n      > 

 (2)         m      

 (3)    
1

2
 = +m       ) ٗنلإنكخزٌٔ تنًفزد )لأػه 

          
1

2
  =m       م ( نلإنكخزٌٔ تنًفزد )لأطف 

 

 

Solution

: 

 غير ممكن أ داد الكم

Solution

: 

 لأن  
Row 2     m  >  

3 S 
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 --------------------قٕتػا حٕسٚغ تلانكخزَٔ ث فٙ يظخٕٚ ث تنذرة

 

 ثم الأعلى فالأعلى حًلا الإنكخشَٔاث انًغخٕٚاث راث انطاقت الأقم أٔلا           -يبار تنبُ ج تنخظ ػا٘: -1

                     Filled electrons levels with less energy and then top it upحسب الترتيب الآتي

 

1s < 2s < 2p < 3s < 3p < 4s < 3d < 4p < 5s < 4d < 5p < 6s < 4f < 5d < 6p <… 

------------------------------------------------------------------------------------------------------ 

ت فرادى وفي اتجاه فإنها تشغل الاوربيتالا  s , p , d ,fعندما تدخل الالكترونات المستوى الفرعي   -قاعدة هوند: -2

 واحد أولا قبل الازدواج

 قبل أن يتشابها فيه ( ml  )يختلف إلكترونا المستوى الفرعي الواحد  في 

-------------------------------------------------------------------------------------------  

لا يوجد إلكترونين في ذرة واحدة لهم نفس أعداد الكم الأربعة )الكتروني الاوربيتال الواحد  -مبدأ بأولي للاستبعاد: -3

 ( ms-مختلفان في الاتجاه

--------------------------------------------------------------------------------------  
 

)Ex-21)-The ground-state electron configuration listed here is incorrect: Al: 1s22s22p43s23p3. 

Write the correct electron configuration. 

A) Al: 1s2 2s2 2p6 3s2 3p2                    B) Al: 1s2 2s2 2p6 3s2                                 C) Al: 1s2 2s2 2p6 3s2 3p1 

 

 

 

AL13 : 1s2 2s2 2p6 3s2 3p1 

 

 

 

 

 

 

 

 غير صحيح التوزيع الإلكترونح

Solution

: 
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)Ex-22) -"No two electrons in an atom can have the same four quantum numbers" is a 

statement of  

A. the Pauli exclusion principle.                                                  B. Bohr's equation. 

C. Hund's rule                                                                              .D. de Broglie's relation. 

 

 

 (.3رقى ) 15ْذت ْٕ يبار ب ٔنٙ تنذ٘ ُٚض ػهٗ رَظز طـ 

------------------------------- 

)Ex-23)-Examine the following portions of orbital diagrams representing the ground-state 

electron configurations of certain elements . 

  

 

 

 

1-Which of the orbital diagrams violate the Pauli Exclusion Principle? 

A) (1) and (6)                 B) (3) and (6)                    C) (2) and (5)                    D) (4) and (5) 

 

2 -Which of the orbital diagrams violate Hund's rule? 

A) (2) and (3)                   B) (4), (2) and (5)           C) (4), (1) )and (5)             D)(1) and (4) 

 

 يبار ب ٔنٙ ْٕ تنذ٘ ٚحخٕ٘ ػهٗ         رٔ       ٚظخبؼاِ( تنشكم تنذ٘ 1) 

 (.Aتنجٕتب ) ـــــــــــــــ  ر٘ تسدٔتج فٙ تحج ِ ٔتحا   

 ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 تسدٔتج قبم يهئ كم تلأٔرُٚ لاث                              هٗ ( تنذ٘ ٚشذ ػٍ ق ػاة ُْا ْٕ تنذ٘ ٚحخٕ٘ ػ2) 

 

 فزد٘ يؼ كض نلاحج ِ ٔٚجب رٌ حكٌٕ كم تلانكخزَٔ ث تنفزدٚت فٙ َفض تلاحج ِ.                             رٔ                 

 

 

Solution

: 

Solution

: 
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)Ex-24)-The orbital diagram for a ground-state oxygen atom is 

 

A. Row 1 

B. Row 2. 

C. Row 3.  

D. Row 4. 

E. Row 5. 

 

 

     

  O8 : 1s
2
 -  2s

2
 – 2p

4
                                                     2p

4
                 

 

 

------------------------------------ 

)Ex-25) -The electron configuration of a neutral atom is 1s
2
2s

2
2p

6
3s

2
. Name the element. 

A) Si                              B) Na                                      C) Mg                                   D) Al 

 

 

 

 

 12 = 2 + 6 + 2 + 2    َجًغ ػاد تلإنكخزَٔ ث تنًٕ ٕد فٙ تنخٕسٚغ  

فٛكٌٕ ْٕ ػاد تنكخزَٔ ث ذرة                           
12

Mg 

 

 

 

 

 

 

Solution

: 

Solution

: 



 

 

A+4Us - 4 all students – aplus44us@gmail.com – Chemistry - ch-7 
 

17 

ZEWAIL    -    0557999301 

 

)Ex-26)-How many electrons are there in the 2nd principal energy level (n = 2) of a 

phosphorus atom?  

A. 3                             B. 5                         C. 6                       D. 8                              E. 10 

 

 

 

P
15

 : 1S
2
 – 2S

2
 – 2P

6
 – 3S

2
 – 3P

3
 

 

                      n = 2 

 تنكخزٌٔ 8بّ 

 

(Ex-27) -Which ground-state atom has an electron configuration described by the following 

orbital diagram? 

                                                  

A. phosphorus          B. nitrogen        C. arsenic          D. vanadium             E. none of these 

 

 

 

[Ne
10

] 3S
2
 . 3P

3
  =  15 

 ْٕٔ ػاد تلانكخزَٔ ث نذرة تنفٕطفٕر

 

 

 

 

 

 

Solution

: 

Solution

: 
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-------------------------ٌالطشٍقت المختصشة للتوصٍع الإلكتشوو----------------------  

 

 

 

 

------------------------------------ 

)Ex-28)-Use the Aufbau principle to obtain the ground-state electron configuration of    Tc43  

 

A) Tc: [Kr] 4d
6                    

B) Tc: [Kr] 4d
7                        

C) Tc: [Kr] 5s
2
4d

5                   
D) Tc: [Kr] 5s

2
4d

6
 

 

 

 

 

Tc43    [Kr36] . 5S
2
 . 4d

2
 

                        

 n = 5فٙ تنأرِ             Tcتنغ س تنؼ يم تنذ٘ ٚظبطّ                                

 

--------------------------------------- 

)Ex-29)-Use the Aufbau principle to obtain the ground-state electron configuration of   Se34 

 

A)Se: [Ar]4s
2
3d

10
4p

3
     B)Se: [Ar]4s

2
3d

10
4p

4     
C)Se: [Ar]4s

2
3d

10
4p

5
       D)Se: [Ar]4s

2
3d

10
4p

6 

 

 

 

Se34 [Ar18] . 4S
2
 . 3d

10
 . 4P

4 

 4فٙ تنأرِ                                                                        

 

 

[   الغاز الخامل الذي يسبق العنصر]
z
 ns-(n-1)d -np n-الدورة التح بيا العنصر 

Z - م الاكمال  ميوالعدد الذري لمغاز الخامل ويت  

Solution

: 

Solution

: 



 

 

A+4Us - 4 all students – aplus44us@gmail.com – Chemistry - ch-7 
 

19 

ZEWAIL    -    0557999301 

)Ex-30)-Determine whether all the ground-state electron configurations for the elements 

listed are incorrect  

Ge: [Ar] 4s
2 
3d

10
 4p

2 
         Fe: [Ar] 4s

2 
3d

6
         Zn: [Ar] 4s

1 
3d

10
                    Ni: [Ar] 4s

2
 3d

8 

 

 

 

Zn30    [Ar18] 4S
2
 3d

10 

----------------------------------- 

 

)Ex-31)-A possible set of quantum numbers for the last electron added to complete an a of 

gallium Ga in its ground state is 

   

A. Row 1.        

 B. Row 2.    

 C. Row 3.            

 D. Row 4.                   

 E. Row 5. 

 

 

        Ga31ذرة تنج نٕٛو

G31 : [Ar18] 4S
2
 . 3d

10
 . 4P

1
 

 تلإنكخزٌٔ تلأخٛز ُْ       

4P 

n  m  ms 

4 1 -1, 0,1 +
1

2
 

 

 

 

 

 

 

Solution

: 

 إلكترون الأخير أ داد الكم الممكنة

Solution

: 

 أي  دد صحيح
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(Ex-32)-Which ground-state atom has an electron configuration described by the following 

orbital diagram? 

 

 A. phosphorus        B. germanium      C. selenium          D. tellurium             E. none of these 

 

 

  

 
 cتنجٕتب            Seٕ ػُظز  ْٔ   34غ تلانكخزَٔٙ تنًٕضح ْٕ نؼُظز ػاد تنكخزَٔ حّ  تنخٕسٚ

-------------------------------------- 

)Ex-33)-Indicate the number of unpaired electrons present in each of the following atoms:  

Kr, Fe, Cd,   I,  Pb. 

A) Kr(0); Fe(4); Cd(0); I(1) ;  Pb (1)                                B)  Kr(0); Fe(4); Cd(1); I(1); Pb(2) 

C) Kr(0); Fe(3); Cd(0); I(1); Pb(2)                                    D)  Kr(0); Fe(4); Cd(0); I(1); Pb(2) 

 

 

 يٍ تنجأل تنأر٘

  آخز يظخٕٖ فزػٙ ػاد تنكخزَٔ حّ تنفزد٘

O 
6 4P Kr36 

   

O 
6 3d Fe26 

    

O 
10 4d Cd48 

    

1 
5 5P I53 

   

2 
2 6P Pb82 

   

 

 

 

 

 

Solution

: 

 اح الموجودة الكترونات غير المزدوجة  دد بين

Solution

: 
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 الشزور عه مبذأ البىاء التصاعذً

 

)Ex-34)-The electron configuration of   29Cu     atom is  

A. [Ar]4s
2
4d

4
                   B. [Ar]4s

2
4p

6
3d

3                                
C. [Ar]4s

2
3d

9
             D. [Ar]4s

1
3d

10
 

 

 

 

Cu29 : [Ar18] 4S     انخٕصٚع انًعخاد نهُحاط ْٕ   
2
 . 3d

9
 

  

   ٚكٌٕ يغخقش إرا كاٌ      d     نكٍ انًغخٕٖ
5

d          ٔأ       
10

d 

       

4Sنزا ُٚخقم إنكخشٌٔ يٍ   
2

3dٗ  إن  
9

 ْٕ نهُحاط فٛكٌٕ انخٕصٚع انصحٛح  

Cu29 : [Ar18] 4S
1
 . 3d

10
 

---------------------------------- 

)Ex-35)-The electron configuration of      24Cr    atom is  

A. [Ar]4s
2
4d

4
             .B. [Ar]4s

2
4p

6
3d

3                              
C. [Ar]4s

2
3d

9
                   D. [Ar]4s

1
3d

5
. 

  

 

 

 َفظ طشٚقت انخٕصٚع الانكخشَٔٙ نهُحاط 

 

3dحخٗ ٚكٌٕ  
5

Cr24 : [Ar18] 4S  أكثش اعخقشاسا    
1
 . 3d

5 

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 ٔلإٚجذ  كهّ  انكشٔو  كهّ ٔعًٕد  انُحاطانشزٔر ْزا ٚشًم عًٕد   يهحٕظت: 

 Cu    Cr 

 Ag    Mo   

 Au   W 

 

Solution

: 

 تام الامتلاء نصف ممتمئ

Solution

: 
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 تنجٕتص تنًغُ طٛظٛت

)Ex-36)-The atomic number of an element is 23. Is this element diamagnetic or 

paramagnetic? 

A)   Diamagnetic                                                                          B) Paramagnetic 

 

 

 

 تنجٕتص تنًغُ طٛظٛت

 

 Paramagnetic Diamagnetic 

 نهزساث انخٙ نٛظ بٓا انكخشَٔاث نهزساث انخٙ بٓا انكخشَٔاث يفشدة 

 يفشدة فٙ انًغخٕٖ انخاسجٙ 

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 

X23 : Ar18 . 4S
2
 . 3d

3
        

 

---------------------------------- 

Ex-37)-A ground-state atom of  Zinc  has -------- unpaired electrons and is---------  

A. 0, diamagnetic    B. 2, diamagnetic      C. 3, paramagnetic        D. 5, paramagnetic          E. 7, paramagnetic 

  

 

 

Zn30 : Ar18 4S
2
 . 3d

10
    

 

 Diamagneticانًادة نٛغج يغُاطٛغٛت        0عذد انكخشَٔاث يفشدة    =         

 

Solution

: 

Solution

: 
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 انجذول انذوسي وتذسج انخىاص نهؼىاصش

A
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 ملاحظاث هامت

 .atomic number انجذٔل انذٔس٘ يشرجب حغت انعذد انزس٘ نهعُصش       -1

    similar chemical properties عُبصش انًجًٕعخ انٕاحذح يزشبثٓخ فٙ انخٕاص انكًٛٛبئٛخ - 2

  – alkali هٕٚخثبنفهضاد انق 1Aرغًٗ عُبصش انًجًٕعخ  -3

 alkaline earth metals    الأسظٛخثبنفهضاد انقهٕٚخ  2Aٔعُبصش انًجًٕعخ               

 halogens ثبنٓبنٕجُٛبد    7Aرغًٗ عُبصش انًجًٕعخ      -4

 noble gases عهٗ انًٍٛٛ يٍ انجذٔل ثبنعُبصش انخبيهخ   الأخٛشرغًٗ عُبصش انعًٕد 

   انجذول انذوسي         
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-
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p
4

  )- 
ص
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و ف
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ت 
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ص
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ية 
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 الأ
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- 
   

 (
n
s2

  )- 
ص

خوا
ي ال

و ف
شاب

تت
 

 

ت 
ويا

القم
- 

   
 (

n
s1

  )- 
ص

خوا
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و ف
شاب

تت
 

 

ممة
لخا

ر ا
ص
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- 
   

 (
n

s2
 -

 n
p

6
  )-

ص
خوا
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و ف

شاب
تت

 

 

1A 

2A 3A 6A 5A 7A 

8A 

4A 

6B 5B 4B 3B 1B 2B 7B 
8B 

Representative element 

Transition metals 

Alkali metals 

 
Noble gases 

 

Halogens 

 

Alkaline earth metals 

 

3d   -     - عناصر
 السمسمة الانتقالية الأولى1-10

4d   -    -  عناصر
 الثانيةالسمسمة الانتقالية 1-10

5d   -    -  عناصر
 الثالثةالسمسمة الانتقالية 1-10
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Solution: 

Solution: 

Solution: 

Solution: 

Solution: 

)Ex-1)- Mendeleev's periodic table is based on _____. 

A)-atomic weight             B)-atomic number               C)-electronic configuration            D)-atomic volume 

 

 

ظَ انجذٔل انذٔس٘ نًُذنٛف عهٗ أعبط انعذد انزس٘ نهعُصش    . ____أعُِّ

------------------------------------------------------------------------------------------------- 

)Ex-2)- Which of the following elements is not in group –7A? 

A)F                                       B)At                                      C)I                                 D)Hf 

    

 

    4Bلأَّ فٙ    7A    ْٕHfانعُصش انغٛش يٕجٕد فٙ انًجًٕعخ  

--------------------------------------------------------------------------------------------------- 

)Ex-3)- An example of an element in group-5A is _____. 

A) Ge                        B) S                    C) Pb                  D) P 

 

 

  5A    ْٕPيضبل نعُصش فٙ انًجًٕعخ  

---------------------------------------------------------------------------------------------------- 

)Ex-4)- The element   Sn  is in group _____. 

A) 4A                     B) 6A                         C) 5A                    D) 7A 

 

 

   4Aعُصش انقصذٚش ٕٚجذ فٙ انًجًٕعخ   

----------------------------------------------------------------------------------------------------- 

)Ex-5)- The elements in Group 7A are known by what name?  

A. transition metals        B. halogens          C. alkali metals        D. alkaline earth metals.    E-noble gases 

 

 

 . ____رغًٗ انٓبنٕجُٛبد   7Aعُبصش انًجًٕعخ   
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Solution: 

Solution: 

 

)Ex-6)- An element in group-13 (3A) of the following is _____. 

A)P                   B)Ge                           C)Al                   D)As 

 

 

   3A    ْٕALانعُصش انًٕجٕد فٙ انًجًٕعخ  

-------------------------------------------------------------------------------------------------------- 

)Ex-7)- Which of the following is an alkaline earth metal? 

A)K                        B) Ca                      C) La              D) Pb 

 

 

   Ca( ْٕ  2Aانعُصش انقهٕ٘ الأسظٙ )عُبصش  

------------------------------------------------------------------------------------------------------------ 

)Ex-8)- An example of an element in group IA is _____. 

A) Sr                     B) Ru                           C) Rb                 D) Ra 

 

 

   1A    ْٕRbانعُصش انًٕجٕد فٙ انًجًٕعخ  

--------------------------------------------------------------------------------------------------------  

)Ex-9)- An example of a representative element is _____. 

A) Cr                        B) Ca                        C) Cu                      D) Fe 

 

 

   2Aٕٚجذ فٙ    Ca(  ْٕ عُصش   7A    1Aانعُصش انًضبنٙ ) 

--------------------------------------------------------------------------------------------------------  

)Ex-10)- Representative elements are also called _____. 

A) sub-group elements                B) main group elements                   C) non-metals                   D) metals 

 

 

 

 . ____انعُبصش انًضبنٛخ ثعُبصش انًجًٕعبد انشئٛغٛخ   رغًٗ
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Solution: 

Solution: 

Solution: 

Solution: 

)Ex-11)- Which of the following is a metalloid? 

A) Bi                   B) Pb                      C) Ca                 D) As 

 

 

   Asانعُصش شجّ انفهض ْٕ  

 

 P  عُبصش انفئخ                             

------------------------------------------------------------------------------------------------------- 

)Ex-12)- An example of a metal is _____. 

A) I2                       B) Br2                     C) Hg                   D) S 

 
 

 انضئجق   Hgانًضبل نهفهض ْٕ   

----------------------------------------------------------------------------------------- 

)Ex-13)- The elements in Group 2A are known by what name?  

A. transition metals    B. halogens      C. alkali metals      D. alkaline earth metals       E. noble gases 

 

 
 

 ثبنعُبصش انقهٕٚخ الأسظٛخ   2Aرعشف عُبصش انًجًٕعخ   

----------------------------------------------------------------------------------------- 

)Ex-14)- The alkali metal elements are found in _______ of the periodic table.  

A. Group 1A          B. Group 2A     C. Group 3A       D. Period 7                   E. Period 1 

 
 

رٕجذ انعُبصش    1Aنهفهضاد انقهٕٚخ فٙ انًجًٕعخ  

____ . 
----------------------------------------------------------------------------------------- 

 )Ex-15)- Which one of these elements is a transition element?  

A. Nickel                    B. Tin              C. Sodium             D. Sulfur                     E. Calcium 

 
 

 انعُصش الاَزقبنٙ )طجعبً فٙ ٔعط انجذٔل( ْٕ  انُٛكم 

 

      

      

      

      

      

      

 

 Pالفئة  

المربعات 
المظممة ىي 
 أشباه الفمزات
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)Ex-16)- The liquid in the fourth period is _____. 

A) Ca                B) Br                   C) As                 D) Sc 

 

 

 ( [ Hg   &Br] انجذٔل ٚحزٕ٘ عبئهٍٛ فقط ًْب  )    Brانذٔسح انشاثعخ ْٕ   فٙانغبئم 

----------------------------------------------------------------------------------------- 

)Ex-17)- Which of the following is not a representative element? 

A) Cs                    B) Al                              C) S                 D) Ni 

 

 

 )لأَّ عُصش اَزقبنٙ(    Niانعُصش انغٛش يضبنٙ يًب ٚهٙ ْٕ  

----------------------------------------------------------------------------------------- 

)Ex-18) - Sc to Zn are called _____ row transition metals. 

A)-second                     B)-third                   C)-fourth       D)-first 

    

 

 

 (  ٚغًٗ انصف الأٔل نهفهضاد الاَزقبنٛخ   Sc    Znيٍ عُصش ) 

----------------------------------------------------------------------------------------- 

)Ex-19)- The subshell which is gradually filled in the transition metal is _____. 

A) s                       B) d                         C) f                 D) p 

 

 

 

   dٙ انز٘ ٚزى ايزلائّ فٙ انعُبصش الاَزقبنٛخ  انًغزٕٖ انفشع
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 انذوسة  -  انمجمىػت - انكتشوواث انتكافؤ -  انتكافؤ انشائغ  - 

    وىع انؼىصش- شحىت الايىن

 (كم  هزا مه انتشكيب الانكتشووي(

 

انتكافؤ شحىت 

الايىن   

= انًجًٕعخسقى     

انكزشَٔبد انزكبفؤعذد   

سقى  =   انذٔسحسقى 

انخبسجٙ زٕٖانًغ  

اوسبيتالاث 

 انمستىي انخاسجي
 انؼىصش انتىصيغ الانكتشووي

+1 1 3 3s
1
 1s

2
-2s

2
-2p

6
-3s

1
 11Na 

+2 2 4 4s
2
 1s

2
-2s

2
-2p

6
-3s

2
-3p

6
-4s

2
 20Ca 

-2 6 2 2s
2
-2p

4
 1s

2
-2s

2
-2p

4
 8O 

-3 5 3 3s
2
-3p

3
 1s

2
-2s

2
-2p

6
-3s

2
-3p

3
 15P 

+3 3 3 3s
2
-3p

1
 1s

2
-2s

2
-2p

6
-3s

2
-3p

1
 13Al 

 4 4 2 2s
2
-2p

2
 1s

2
-2s

2
-2p

2
 6C 

-1 7 3 3s
2
-3p

5
 1s

2
-2s

2
-2p

6
-3s

2
-3p

5
 17Cl 

0 8 3 3s
2
-3p

6
 1s

2
-2s

2
-2p

6
-3s

2
-3p

6
 18Ar 

----------------------------------------------------------------------------------------- 

)Ex-20)- Which of these choices is the general electron configuration for the outermost 

electrons of elements in the alkaline earth group?  

A. ns
1                            

B. ns
2
                   C. ns

2
np

4                                  
D. ns

2
np

5
                      E. ns

2
np

6
(n -1)d

6
 

 

 

فزشكٛجٓب    2A  خانقهٕٚبد الأسظٛخ فٙ انًجًٕع
2

ns  . 

----------------------------------------------------------------------------------------- 

)Ex-21)- Elements having eight electrons in their valence shell are _____. 

A) noble gases        B) halogens     C) alkali metals              D) metals 

   

 
 ٕعخ انزٙ ٚقع فٛٓبًغبٔ٘ سقى انًجٚ -لأ٘ عُصش كزشَٔبد  يغزٕٖ انزكبفؤنإ عذد

 )انعُصش انخبيم(  8Aإنكزشٌٔ ْٕ عُصش انًجًٕعخ    8ٔانعُصش انز٘ ثّ  
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Solution: 

Solution: 

Solution: 

Solution: 

 

)Ex-22)- Halogens have _____ electrons in their outermost shell. 

A) Four        B) six        C) seven                        D) three 

 

 

 إراً ثّ عجعخ انكزشَٔبد فٙ يغزٕٖ انزكبفؤ  7Aانٓبنٕجٍٛ يٍ عُبصش  

----------------------------------------------------------------------------------------- 

)Ex-23)- The elements having ns
1
 configuration in their outermost shell are _____. 

A) transition metals        B) halogens           C) alkali metals         D) alkaline earth metals 

 

 

انزشكٛت  
1

ns    1ْٕ نعُبصشA  نقهٕٚخانزٙ رغًٗ انفهضاد ا 

----------------------------------------------------------------------------------------- 

)Ex-24)- The number of valence electrons in phosphorus is _____. 

A) 3                B) 5                        C) 2                          D) 4 

 

 

 إنكزشَٔبد ركبفؤ  5نزنك ثّ    5Aانفٕعفٕس فٙ انًجًٕعخ  

----------------------------------------------------------------------------------------- 

)Ex-25) - Six valence electrons are present in _____. 

A) Si           B) B           C) I              D) S 

 

 

 

  Sْٕٔ عُصش    6Aإنكزشَٔبد ركبفؤ َٕجذ لأ٘ عُصش فٙ انًجًٕعخ    6

 

----------------------------------------------------------------------------------------- 

)Ex-26)- The element having three valence electrons is _____. 

A) N                 B) Ge        C) Al                     D) Ca 

 

 

 3A  (lA)ْٕ عُصش فٙ انًجًٕعخ   إنكزشَٔبد ركبفؤ  صلاسانعُصش انز٘ ثّ  
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Solution: 

Solution: 

Solution: 

 

 

)Ex-27)- Which of the following is diatomic? 

A) Neon                 B) Phosphorus     C) Oxygen                    D) Sodium 

 

 

 2Oئٛخ ْٕ الأكغجٍٛ  ضٚانعُصش انز٘ ٚكٌٕ صُبئٙ انزسح فٙ حبنزّ انج

----------------------------------------------------------------------------------------- 

)Ex-28)- A non-metal of the following is _____. 

A) Ba                           B) Fe                            C) P             D) Cu 

 

 

 Pانعُصش انلافهض ْٕ  

----------------------------------------------------------------------------------------- 

)Ex-29)- The general electron configuration for atoms of the halogen group is  

A.  ns
2
np

6
.              B. ns

2
 np

5
               C. ns

2
 np

6
(n -1)d

7
.            D. ns

1
.                E. ns

2
np

7
 

 

 

ْٕ    7Aكٛت نهٓبنٕجُٛبد  انزش
5

np – 
2

ns 

----------------------------------------------------------------------------------------- 

)Ex-30)- Consider the element with the electron configuration [Kr]5s
2
4d

7
. This element is  

A- a representative element.        B- a transition metal.             C- a nonmetal              

.D- an actinide element.                          E- a noble gas 

 

 

 dْزا انعُصش ْٕ عُصش اَزقبنٙ لأٌ انًغزٕٖ الأخٛش نّ  ْٕ  

----------------------------------------------------------------------------------------- 

)Ex-31)- What is the charge on the monatomic ion of nitrogen, the nitride ion?  

A. +2                B. +1              C. -1                       D. -2                   E. -3 

 

 

 

 3نزنك ٚعطٙ إٌٔٚ راد شحُخ    5Aانُٛزشٔجٍٛ فٙ انًجًٕعخ  
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)Ex-32)- What is the charge on the stable ion formed by selenium? 

A. +2              B. +1                C. -1            D. -                  E. -2  

 

 

 -2نزا ٚعطٗ إٌٔٚ راد شحُخ    6Aفٙ انًجًٕعخ    Seانغٛهُٕٛٛو  

----------------------------------------------------------------------------------------- 

)Ex-33)- Which of these elements forms stable +2 cations?  

A. Kr            B. I              C. Se             D. Al                   E. Ba 

 

 

  

 2A     ْٕٔBaْٕ يٍ انًجًٕعخ    2+انعُصش انز٘ ٚعطٙ إٌٔٚ   

----------------------------------------------------------------------------------------- 

)Ex-34)- Which two electron configurations represent elements that would have similar 

chemical properties? 

(1) 1s
2
2s

2
2p

4
                       (2) 1s

2
2s

2
2p

5
                     (3) [Ar]4s

2
3d

10
4p

3                     
(4) [Ar]4s

2
3d

10
4p

4
  

 

A. (1) and (2)   B. (1) and (3)               C. (1) and (4)                 D. (2) and (4)             E (2) and (3) 

 

 

 

 انعُبصش انًزشبثٓخ فٙ انخٕاص انكًٛٛبئٛخ ْٙ عُبصش انًجًٕعخ انٕاحذح

 6A(  فٙ انًجًٕعخ  4( & )1ٔيٍ انزشاكٛت الإنكزشَٔٛخ َجذ أٌ انعُصش )

     انجٕاةC 

 

----------------------------------------------------------------------------------------- 

 

 

 

(1)    6A 

(2)    7A 

(3)    5A 

(4)    6A 
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 ي نلأيىنانتىصيغ الانكتشوو

 (isoelectronic   )وانمتشابهاث الانكتشوويت 

 

)Ex-35)- Which of these species make an isoelectronic pair: Cl
-
, O

2-
, F, Ca

2+
, Fe

3+
?  

A. Ca
2+

 and Fe
3+

           B. O
2-

 and F                C. F and Cl
-
        D. Cl

-
 and Ca

2+
           E. none of these 

 

 

(A)   
2

20

18

Ca


& 
3

26

23

Fe


 (B) 
2

8

10

O


 & 
9

9

F  (C)      
 

 &     
  

  (D)       
  

  &     
  

   

 

 ْٙ انزٙ ثٓب َفظ عذد الإنكزشَٔبد  زشبثٓبدفٙ كم عُصش فئٌ انًثعذ حغبة الإنكزشَٔبد  

عُذ رأٍٚ انعُصش الإَزقبنٙ يضم   
3

26
Fe


5] أٔلاً    45رخشط إنكزشَٔبد    

3d  45  18Ar  :
3

26
Fe


] 

----------------------------------------------------------------------------------------- 

)Ex-36)- Which of the following pairs cannot be isoelectronic _____. 

A) ion–ion                                B) atom–atom                         C) cation–cation                       D) cation–anion 

 

 

 

 . ____إنكزشَٔٛخ   دلا ًٚكٍ لأ٘ رسرٍٛ )يزعبدنزٍٛ( أٌ ركَٕب يزشبثٓب

 

----------------------------------------------------------------------------------------- 
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ةحجم انزس  

Size of the atom 

ي نحجمهايؼتبش وصف قطش انزسة هى انمحذد الأساس  

 

 

 

 

 

 

 

 

 ٚزى رحذٚذ انذٔسح ٔانًجًٕعخ نكم رسح -:يهحٕظخ ْبيخ نزغٓٛم رشرٛت حجٕو انزساد

 اكجش رسح رٕجذ فٙ انذٔسح الأكجش    - 1ٔٚكٌٕ     

 انًجًٕعخ الأقم. َأخزٔعُذ رغبٔ٘ انذٔساد                                

  اصغش رسح رٕجذ فٙ انذٔسح الأقم   - 2             

  انًجًٕعخ الأكجش. َأخزٔعُذ رغبٔ٘ انذٔساد                            

     Te > As > Na > Al > Pرنك ٚكٌٕ ٔعهٙ                  
 

=====================  

ان  حعلا  

               

 نكه في حانت  انـ  isoelectronic     الاتيت  يكىن  

                           

----------------------------------------------------------------------------------------- 

)Ex-37) - The correct order of radius of an atom, A, to its ion is _____. 

A) A
–
 < A                    B) A

2+
 < A                     C) A

2+
 > A                      D) A

+
 > A

–
 

 

 

 

 أٌ حجى الإٌٔٚ انًٕجت اصغش يٍ حجى رسرّ. يٍ انًعشٔف

 A    >A
+

  & A
+

    >A
++

   & A    >>A
++

 . ____ْٔكزا        

 

 

 

 يقل الحجم الذري في ىذا الاتجاه بسبب زيادة الشحنة الموجبة بالنواة وزيادة جذبيا للإلكترونات الخارجية

ت 
تويا

مس
دة 

 زيا
بب

 بس
جاه

الات
ذا 

ي ى
ي ف

لذر
م ا

حج
د ال

زدا
ي

جية
خار

ت ال
رونا

لكت
 الا

بين
فر 

لتنا
ة وا

لذر
ا

 

 

 
Na

+
 < Na 

             

ويزداد -هحجم الايون الموجب اصغر من حجم ذرت
 صغر الحجم بزيادة الشحنة الموجبة عمى الايون

 

Cl
–
> Cl 

ويزداد كبر -حجم الايون السالب اكبر من حجم ذرته
 الحجم بزيادة الشحنة السالبة عمى الايون

 

g P  
3 3 Al 

5 3 P 
5 4 As 
6 5 Te 
1 3 Na 
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Solution: 

)Ex-38)- Which of these atoms has the smallest radius?  

A. Al                B. P                      C. As                 D. Te                     E. Na 

 

 

P    <Al    <Na    <As    <Te 

 Pٔثبنزبنٙ ٚكٌٕ أصغش حجى ْٕ  

 

 

----------------------------------------------------------------------------------------- 

)Ex-39)- The smallest atom in group 7A is _____. 

A) F                       B) I                  C) Br                        D) Cl 

 

 

 

 يٍ انًعشٔف أٌ انحجى ٚضداد يٍ أعهٗ لأعفم فٙ انًجًٕعبد

 Fٔثبنزبنٙ فئٌ انزسح الأصغش ْٙ    

 

----------------------------------------------------------------------------------------- 

)Ex-40)- The correct order of the size of the atom or ion of the following is _____. 

A) Cl
–
< Cl           B) O

2–
 < S

2–
         C) Na

+
 > Na              D) Mg

2+
 < Al

3+
 

 

 

 

O  <  S 

O
-2

  <  S
-2

 

 

 ٔالأكغجٍٛ ْٕ الأقم حجًبً.   6Aالأكغجٍٛ ٔانكجشٚذ فٙ يجًٕعخ  

 

 

 

g P  
3 3 AL 
5 3 P 
5 4 As 
6 5 Te 
1 3 Na 

 

الدورة 
والمجموعة لكل 

 عنصر

F 

Cl 

Br 

I 

يزداد 
 الحجم

 

 

6 A 

 زيادة 
 في الحجم
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)Ex-41)- The correct order of atomic radius of the following is _____. 

A) Na > Al > Cl > Mg                                B) Na < Al < Cl < Mg   

C) Na < Mg < Al < Cl                                D) Na > Mg > Al > Cl 

 

 

 نًٍٛٛ.يٍ انٛغبس إنٗ ا انحجى ٔ ٚقم  3  حٔاحذ ْٔٙ انذٔس حكم ْزِ انعُبصش فٙ دٔس

O O OO  O   Cl    <Al    <Mg    <Na                   انجٕاةd 

 

 

----------------------------------------------------------------------------------------- 

)Ex-42) - Which of these atoms has the largest radius?  

A. B                             B. Ga                            C. Br                       D. Si                            E. Cl 

 

 

 

 ٔانًجًٕعبد رصبعذٚبً  انذٔساد رُبصنٛبً     ولاً تشتيب: أيتم 

 

 (4, 3) > (4, 7) > (3, 4) > (3, 7) > (2, 3) 

    Ga  >    Br  >    Si   >    Cl    >  B 

  

 Gaانزسح الأكجش ْٙ     

----------------------------------------------------------------------------------------- 

 

 

 

 

 

 

 

 يقل الحجم في الدورة

g P  
3 2 B 
3 4 Ga 
7 4 Br 
4 3 Si 
7 3 Cl 

 

 مجموعة
 دورة
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 جٓذ انزأٍٚ
 Ionization energy 

 ْٕ انطبقخ انلاصيخ نفصم اثعذ إنكزشٌٔ عٍ َٕاح رسح يفشدح غبصٚخ

 إٌٚ يٕجت( نزكٍٕٚ )أ٘ انطبقخ انلاصيخ 

 حبلاد انشزٔرح ٔٚغزضُٗ يٍ رنك ٚشرجط جٓذ انزأٍٚ عكغٛب يع حجى انزس

 

 

 

 

 

( إرا كاابٌ فقااذ الإنكزااشٌٔ ٚقهاام 1)

ٚكٌٕ جٓاذ انزاأٍٚ  اعزقشاس انزسح.

 يشرفع

 ـــــــــــــــــــــــــــــــــــــــــ

( إرا كبٌ فقاذ الإنكزاشٌٔ ٚضٚاذ 2)

اعزقشاس انازسح ٚكإٌ جٓاذ انزاأٍٚ 

 يُخفط.

 

 

 

----------------------------------------------------------------------------------------- 

 يع يشاعبح انشٕار فٙ جٓذ انزأٍٚ –حغت انحجى صى َعكظ انزشرٛت ألا  شرت َ -نهزشرٛت حغت انجٓذ  -:يهحٕظخ ْبيخ 

----------------------------------------------------------------------------------------- 

 

)Ex-43)- The property, which increases from left to right in the period, is _____. 
 

A)-ionization energy             B)-atomic radius                 C)-metallic character                 D)-covalent radius 

 

 

 

 

 Aْٙ  جٓذ انزأٍٚ     انجٕاة    ذٔل فٙ انج انذٔسحيٍ انخٕاص انزٙ رضداد يٍ ٚغبس إنٗ ًٍٚٛ 

 

 

 

 اة للإلكترونيزداد جيد التأين في ىذا الاتجاه بسبب نقص حجم الذرة وزيادة جذب النو 

دة 
 زيا

بب
 بس

جاه
الات

ذا 
ي ى

ن ف
لتأي

د ا
جي

قل 
ي

رون
لكت

 للإ
نواة

ب ال
جذ

ف 
ضع

رة و
 الذ

جم
ح

 

 

Be 

Mg 

Ca 

 

 

 

2A 

B 

Al 

Ga 

 

 

 

3A 

اكبر 
جهد  

 من

 

N 
P 

As 

 

 

 

5A 

O 

S 

Se 

 

 

 

6A 

اكبر 
جهد  

 من

 عكس المفترض –ويشذ عن ىذا التدرج ىذه المجموعات 

Solution: 

ns
2 

np
1
 np

3
 np

4
 

 
   

 

   

 

   

 أقل استقرارا   مستقر أقل استقرارا   مستقر 

 تزداد
 الدورةفي  لميمين اليسار من الخاصية
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Solution: 

Solution: 

)Ex-44)- The property, which decreases along a group from top to bottom, is _____. 
 

A)-atomic radius               B)-metallic character              C)-ionization energy             D)-ionic radius 

 

 

 

 م يٍ أعهٗ لأعفم فٙ انجذٔل ْٙ جٓذ انزأٍٚانخبصٛخ انزٙ رق

----------------------------------------------------------------------------------------- 

)Ex-45)- Which of these elements has the highest first ionization energy?  

A. Cs                       B. O                       C. K                             D. Bi                 E. N 

 

 

          N       O 

 لاَّ الاقم حجًب  يٍ انًفزشض أٌ ٚكٌٕ الأكغجٍٛ الأعهٗ لأَّ

 ْٕ الأعهٗ فٙ جٓذ انزأٍٚ.  N(  ٚجعم N    ،Oنكٍ انشزٔر ثٍٛ انعُصشٍٚ )

 

----------------------------------------------------------------------------------------- 

 

)Ex-46)- Which of these elements has the highest first ionization energy?  

A. C                         B. Si                             C. Ge                      D. Sn                        E. Pb 

 

 

 

 ٔحٛش أٌ انجٓذ ٚقم يٍ أعهٗ لأعفم                          4Aِ انعُبصش كهٓب رقع فٙ انًجًٕعخ  ْز

 

          

 ْٕ الأعهٗ جٓذ انزأٍٚ  Cفئٌ انكشثٌٕ 

 

----------------------------------------------------------------------------------------- 

 

 

 

Solution: 

 الطاقة التأين الأول أعمى

C 

Si 

Ge 

Sn 

Pb 
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Electron affinity 

 (انقابهيت الانكتشوويت ( (م الانكتشوويانمي) 

 هى انطاقت انمىطهقت ػىذ استقبال رسة مفشدة غاصيت لإنكتشون خاسجي 

 [ anionه أيىن سانب ي] أو هي انطاقت انمىطهقت ػىذ تكى

 

 

 

 

 

 ولاحع أن

انًغزٕٖ  – 5Aعُبصش 

صف يًزهئ َ انخبسجٙ نٓب

)يغزقش( ٔنزنك اعزقجبنٓب 

اس لإنكزشٌٔ ٚقهم الاعزقش

  4Aعهٗ عكظ عُبصش  

رحزبط إنكزشٌٔ نكٙ رصجح يغزقشح نزنك 

 الأنفخ نٓب عبنٛخ.

----------------------------------------------------------------------------------------- 

)Ex-47)- Which of these elements has the greatest electron affinity (largest positive value)?  

A. Mg                             B. Al                               C. Cl                       D. P                            E.  F 

 

        (F) 

 (Mg)  (Al)  (Cl) 

 انزشرٛت ثبنجذٔل         ٕٔٚجذ حبنخ خبصخ ثٍٛ انفهٕس ٔانكهٕس

 ٔاكجش يُّ حجًب نفخ انكزشَٔٛخ سغى اَّ أعفم انفهٕس فٙ انًجًٕعخفبنكهٕس ْٕ الأكجش ا

 

 

 

 

 الاتجاه بسبب نقص حجم الذرة وزيادة جذب النواة للإلكترونات يزداد الميل الالكتروني في ىذا

جم 
 ح

ادة
 زي

بب
 بس

جاه
الات

ذا 
ي ى

ي ف
رون

لكت
 الا

ميل
ل ال

يق
ات

رون
لكت

 للإ
نواة

ب ال
جذ

ف 
ضع

رة و
الذ

 

 

C 

Si 

Ge 

 

 

 

4A 

N 

P 

AS 

 

 

 

5A 

اكبر 
الفة 

 من

F 

اقل 
 من

Cl 

 المفترض عكس –ويشذ عن ىذا التدرج ىذه المجموعات 

 

Solution: 

   

 

np    

 

np 



 

 

A+4Us - 4 all students – aplus44us@gmail.com – Chemistry - ch-8 
 

17 

ZEWAIL    -    0557999301 

)Ex-48)- Electron affinity is the energy liberated when an atom forms a _____. 

       A) Free radiation                  B) cation            C) anion               D) molecule 

 

 

 

 anionَزٛجخ اكزغبة إنكزشٌٔ ٔنزنك ٚزكٌٕ إٌٔٚ عبنت ْٙ انطبقخ انًُجعضخ  لانفخ الانكزشَٔٛخا فيٍ انًعشٔ
 

-------------------------------------------------------------------------------------------------- 

 (Ex-49)- Electron affinity is highest for ------                                                                      

A) C                                B) Li                                   C) N                                 D) Al 

 

 

----------------------------------------------------------------------------------------- 

 (Ex-50) - The element having negative electron affinity is _____.                       

A) Cl                      B) Ar                              C) Br                       D) I 

 

 . ____جًٛع انعُبصش انخبيهخ نٓب أنفخ إنكزشَٔٛخ عبنجخ أ٘ أقم يٍ انصفش 

 شأقم يٍ أٔ رغبٔ٘ صف ( Be  ,  Mg  ) ثبلإظبفخ إنٗ 

  Nobel  <  0     Mg & Be    0        

----------------------------------------------------------------------------------------- 

 (Ex-51)- The element having zero electron affinity of the following is _____. 

A) C                       B) N                                  C) O                              D) F 

 N = 0   انُٛزشٔجٍٛ فقط ْٕ رٔ الأنفخ صفش

 

 رضداد الأنفخ )عكظ انحجى( 
 

 Al Li C N 

 

 شزٔر          

   C  >  N 

   4A  ,  5A 

 مهحىظت:         

  N7  C6 

 1S
2
 – 2S

2
 – 2P

3
         1S

2
 – 2S

2
 – 2P

2
 

 2P     2P   

  

 

  

 Nأكجش يٍ الأنفخ نـ    Cالأنفخ نـ   

Solution: 

Solution: 

Solution: 

يحتاج  2Pالمستوى 
 إلكترون لكي يستقر لذلك

نصف  2Pالمستوى 
 مكتمل أي مستقر

   

 

   

 


